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9. Given that 2n° + 3n is odd, where n is an Integer, use proof by contradiction to show that rE 41]5 1
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m Complete the following proof by contradiction to show that \E " 18 irrational. i .f S
- Assuming that JE is rational, let _ —
5 & = A e ke
' i L
where a and b are integers that have no common factors. [ I
s TREBSE = 8 T Jactor of o [5] { T
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"7 10. Complete the foﬂbWing proof by contradiction to show that x + % > 6 when x is real and positive, :__
oo ASsume that x + % <6.Sincex>0, x*+9<6x % s s
. . .
= 10, Complete the f(-yl'lowing proof by contradiction to show that /2 is irrational. sE———
B Assumfng that N2 is rational, let 7 = £ » Where a and b are integers that have no common
- b b. ;
factor.
- = . aZ'
) Squaring both sides, we have 2 = E; .
L2 =q"
which implies 2 is a factor of a*. Then 2 is a factor of a. [4] .
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10. Complete the foIIowing proof by contradiction to show that x + — #10  when x is real and e
positive.
Assume that x + = <10 whenxisreal and positive, _ £
Since x is positive, multiplication of both sides of the inequality by x gives x* + 25 < 10x. [4] i




